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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

0039`tf 
	December, 2014 

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all the five questions. All questions carry 
equal marks. Answer to questions no. 1 and 2 
should be in about 400 words each. 

1. Why do we say all terms are words but all words 
are not terms ? Discuss. 	 20 

OR 

Define Logic. Explain the limitations of 
Aristotelian Logic. 	 20 

2. What is Dilemma ? Give an account of the kinds 
of dilemma. 	 20 

OR 

Define Quantification and provide formal proofs 
of the following argument form : 	 20 

1. (x) (Px = Vx) 

2. (3x) (Mx A Px) 

I.. (3x) (Mx A Vx) 
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3. Answer any two of the following questions in 

about 200 words each : 

(a) Explain Stroke Function. 	 10 

(b) Describe the Formal Fallacy with an 

example. 	 10 

(c) Discuss the Nature of Definition. 	 10 

(d) Draw a formal proof of the following 

argument form : 	 10 

1. (K v L) 	(M A N) 

2.(-1M v N) (0 P) 

3. (0 = P) = (Q A R) 

/.•. (L v K) (R A Q) 

4. Answer any four of the following questions in 
about 150 words each : 

(a) What do you understand by Division ? 	5 

(b) Explain the distribution of terms in 

	

Categorical Proposition. 	 5 

(c) Describe Venn Diagram with an example. 	5 

(d) Define conjunction with an example. 	5 

(e) Is Logic a Science or an Art ? Comment. 	5 

(f) Explain Inductive Reasoning. 	 5 
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5. Write short notes on any five of the following in 

about 100 words each : 

(a) Obversion 	 4 

(b) Negation 	 4 

(c) Synthetic a-priori propositions 	 4 

(d) Fallacy 	 4 

(e) Universal Generalization (UG) 	 4 

(f) Figure 	 4 

(g) Modus Ponens 	 4 

(h) Major term 	 4 
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1. (x) (Px 	Vx) 

2. (3x) (Mx A Px) 

/:. (3x) (Mx A Vx) 
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